1. Using your algebra skills rearrange Q = (m) (C) (AT) to isolate the indicated
variable in each case (isolate means ‘get it an one side of the equals sign by
itself).

Isolate C Az e AT Isolate AT m=m < AT
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2. How much heat is absorbed by 20g granite boulder as energy, from the sun
causes its temperature to change from 10°C to 29°C? (Specific heat capacity of
granite is 0.1 cal/g°C) ; $

L= (wq)(0-1 Y1) y
q/: 3&{: L‘O color ec¢

3.How much heat is released when 30 g of water at 96°C cools to 25°C? The
specific heat of water is 8 cal/ °C7
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4. Applying the physnc& s definition of the term heat, decide whether or not there is
any heat occurring to the object in italics. For each object you should indicate
whether the heat is negative, zero or positive.

a) An ice cube is placed in a cup of hot coffee Po S (T) Vi -

b) A pot of hot tea is sealed into a well-insulated thermos 7 €O

c) Some cold cream is poured into a cup of hot coffee Nt (s AT WE
d) You blow air across a bowl of hot soup [P0 S1TW

e) You jump into an ice cold pond £J e A TV
5. How much heat will raise a pot of 800 g of water from 20 °C to 90 °C?
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6. What happens when you place two objects at different temperatures in contact
with each other? ‘ < \:3)
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7. If a 3.1g ring is heated using 10. O calories, |ts temperature rises 17.9° 5%
Calculate the speci

8. The temperature of a sample of water increases from 20°C to 46.6°C as it
absorbs 5650 calories of heat. What is the mass of the sample? (Specific heat of

water is 1.0 cal/g °C)
5650 cal D -
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9. The temperature of a sample of iron with a mass of 10.0 g changed from 50.4°C
to 25.0°C with the release of 47 calories of heat. What is the speC|f|c heat of
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10. A 4.50 g coin of copper absorbed 54 calories of heat. What was the final

temperature of the copper if the initial temperature was 25°C? The specific heat
of copper is 0.092 cal/g°C. @Fnub aT @THt N Fiud FIN AL
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11. A 155 g sample of an unknown substance was heated from 25°C 10 20°C: B
’ {

In the process the substance absorbed 569 calories of energy. What is the
substance? 564 cal
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§ the specific heat of an unknown substance if a 2.50 g sample
ries as its temperature changes from 25°C to 20°C?

| 2 Coloties C 0 O\Q g,a)

AN (20 T et

12




